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You can do this in 6 steps:

1
Look at the table of results :

What is the range of numbers for time ? (What 
is the lowest number and what is the highest 
number ?) 
Time has a range of 0–5 minutes.


What is the range of numbers for temperature ? 
Temperature has a range from 42 °C to 80 °C.
It is usually best to start each line (or ‘axis’) with 
zero, so here we will show the temperature axis 
from 0 °C to 80 °C.

2
Choose a simple scale for each line. 
In this example: 
the time axis could be 1 cm for 
each minute (so it would be 
5 cm long), or it could be 2 cm 
for each minute (so it would be 
10 cm long).


The temperature axis could 
be 1 cm for each 10 °C (so it 
would be 8 cm to cover 80 °C).

3
Mark out the 2 lines (‘axes’) on 
graph paper.  Then label them :


Put a mark at each minute on the 
time line, and a mark at each 
10 °C on the temperature line :

4
Now plot the crosses. 
The first X will be for 0 on the 
time line and 80 on the 
temperature line.

5
When all the crosses are marked, 
draw the ‘line of best fit’ through 
them. 
(If it is a straight line, use a ruler.)


If a cross is a long way off the line, 
it could be a wrong result and so 
it should be checked carefully.

6
Look at the graph and try to 
decide what it means. 
That is, try to interpret the graph 
and draw a conclusion from it.
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Plotting a line-graph





Example


Emma measured the temperature �of a cup of tea as it cooled down.


Here are her results:


Time


(in minutes)�
Temperature


(in °C)�
�
0�
80�
�
1�
70�
�
2�
60�
�
3�
52�
�
4�
46�
�
5�
42�
�
Plot a graph to show these results.
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